Elégtelen részvizsga = vizsga MJ =
_ mp = méreési pont megjegyzeés
Hozott mérési pont vp = vizsga pont
NK Mérések Vizsga

max 20 [mp] |max 70 [p] |max 100[%] |max 100[%] |max 40[vp] [max 40[vp] [max 100 ésszpntsz. 5

min 8 [mp] min 28 [p] [min 40[%] |min 40[%]* |min 16[vp] |min 16[vp]* [min 40 &sszpontsz. 1
NK sMér[mp] |Ar V[p] |ArV[%] H6V [%] [YAr[vp]l |SH&[vp] |>Mérmp]+3Ar[vp]+YH&[vp] Jegy MJ
AWS232 20 38 54 45 22 18 60 3|Ar. V tavalyrél
CPRZDK 18 36 51 79 21 32 70 4|Ar. V tavalyrol
DM2LOG 16 48 69 73 27 29 73 4
DUKPIQ 18 23 33 60 13 24
EO1L3B 18 14 20 8 0 nincs H6
EZOQG8 17 39 56 32 22 13 Ar. V tavalyrol
FSA3BY 18 38 54 25 22 10 Ar. V tavalyrol
FZFQSB 20 33 47 45 19 18 57 3|Ar. V tavalyrol
GIA7EZ 20 34 49 42 19 17 56 3
GINTQ5 20 30 43 42 17 17 54 2|Ar. V tavalyrol
I5Y51Z 19 31 a4 25 18 10 | ]
PKXM93 19 50 71 46 29 18 66 3[H6. V tavalyrdl
TOGP8S 19 36 51 60 21 24 64 3
ULAWGU 18 41 59 45 23 18 59 3|Ar. V tavalyrdl




